attisoarh.

(gK 02.01.202)



Scholarship Scheme: Post Matric ST Scholarship

> Category ST

Institute Name GOVT. GRADUATE COLLEGE TOKAPAL

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/5540/2/7/101395

Sanction Date: 31/01/2021

Applications Type: Fresh

Application ID Student Name	Gene	der Course	Туре	No. of Month	Rate	Maintenence Tul	tion Fee	Other Fee	Total Fee	Total Amount
1577729 NITU BAGHEL	Female	B. Sc./Science/I	Fresh	8	300	2400	0	704	704	2104
1754783 KHAGPATI BAGHEL	Male	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3104 3084
1768827 RAJU KAVASI	Male	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1782757 NEEKITA MOURYA	Female	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1852147 CHANDRAMANI BAGHEL	Female	B. A./Arts/I	Fresh	7	300	2100	0	684	684	2784
1842657 HARIDEV NAG	Male	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1773616 MEGHANTH BAGHEL	Male	B. Sc./Science/I	Fresh	8	300	2400	0	704	704	3104
1786328 KAMALSAY NAG	Male	B. Sc./Science/I	Fresh	7	300	2100	0	704	704	2804
1765169 KALPANA KASHYAP	Female	B. Sc./Science/I	Fresh	7	300	2100	0	704	704	2804
1789105 JAGANNATH BAGHEL	Male	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1786236 PARWATI KASHYAP	Female	B. A./Arts/I	Fresh	7	300	2100	0	684	684	2784
1791561 MAHESHRAM KASHYAP	Male	B. A./Arts/I	Fresh	7	300	2100	Ö	684	684	2784
1796402 SHANTI NAG	Female	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1782478 SARITA MOURYA	Female	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1794330 PRADEEP KUMAR NAG	Male	B. Sc./Science/I	Fresh	8	300	2400	0	704	704	3104
1780709 GANGA RAM NAG	Male	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1801110 DIPIKA KASHYAP	Female	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084

ation:

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from . 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online nip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the e have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of AGAD The Institution) Name Capit pelege Tokapal

nolarship Scheme

Post Matric ST Scholarship

Category

ST

GOVT, GRADUATE COLLEGE TOKAPAL

Institute Name Academic Year

2020-21

State

Government of Chhattisgarh

Sanction Number

N/10/5540/2/7/101395

Sanction Date

31/01/2021

Academic Fear 2020-		Company and the company of the compa					Applications Type	Fres	th	
	Gend	ler Course	Туре	No. of Month	Rate	Maintenence 1	uition Fee Othe	r Fae	Total Fee	Total Amount
1760108 BASANTI KASHYAP	Female	B. A./Arts/I	Fresh	8	300	2400	0	684		
1772357 PREM KUMAR KASHYAP	Male	B. Sc./Science/1	Fresh	8	300	2400	o		684	308
1806336 SANKO MANDAVI	Female	B. Sc./Science/I	Fresh	7		2100		704	704	310
1800939 ANJOO MOURYA	Female	B. A./Arts/I	Fresh	8	300		0	704	704	280
1813591 MANDANA MOURYA	Female	B. Sc./Science/1	Fresh	8	300	2400	0	684	684	308
1813379 MANBATI MOURYA	Female	B. Sc./Science/1	Fresh	8	300	2400	0	704	704	310
1810171-BHUDH RAM KAWASI	Male	B. A./Arts/I	Fresh		300	2400	0	704	704	310
1813930 GEETA BAGHEL	Female	B. Sc./Science/1	Fresh	8	300	2400	0	684	684	308
1811497 GEETA BHARTI	Female	B. Sc./Science/1	Fresh	/	300	2100	0	704	704	280
1815265 VIJAY KUMAR NAGESH	Male	B. A./Arts/I	Fresh	7	300	2100	O	704	704	280
1815198 JAGMOHAN KASHYAP	Male	B. A./Arts/I	Fresh	7	300	2100	0	684	684	278
1836388 RAMESH KUMAR BAGHEL	Male	B. Sc./Science/1		7	300	2100	0	684	684	278
1833155 BASANT NAG	Male	B. Sc./Science/1	Fresh	7	300	2100	0	704	704	
1809400 JOGENDRA KASHYAP	Male	B. Sc./Science/1	Fresh	8	300	2400	0	704	704	280
1841587 SAMDU NAG	Male	B. Sc./Science/I	Fresh	7	300	2100	0	704		310
1818652 RENUKA SAHANI	Female	B. Sc./Science/1	Fresh	8	300	2400	0	704	704	280
1845888 SUKARI BAGHEL	Female		Fresh	7	300	2100	0		704	310
1844485 KALAVATT BAGHEL	Female	B. A./Arts/I	Fresh	7	300	2100		704	704	280-
tion :	rende	B. A./Arts/I	Fresh	7	300	2100		684	684	2784
that students studying in this invite						2100	0	684	684	2784

tified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from al no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online plarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the didate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies of accepts other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period of scholarship/stipend from the scholarship/stipend from the scholarship scholarship/stipend from the scholarship scholarsh

(Signature & Stal of Head of the Institution)

attisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT, GRADUATE COLLEGE TOKAPAL

Academic Year: 2020-21



State

Government of Chhattisgarh

Sanction Number:

N/10/5540/2/7/101395

Sanction Date: 31/01/2021

Applications Type: Fresh

		The second second		College Street American Commission Commissio		1			Tresi		
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee Total	al Amount
1839161 MAI	HESHWARI NAG	Female	B. Sc./Science/I	Fresh	7	300	2100	0	704	704	2804
1855014 KAU	ISHILYA MOURYA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	704	704	
1850126 SUD	ARU RAM	Male	B. Com./Commerce/I	Fresh	8	300	2400	0	684	684	3104
1845205 SAM	LO KOWASI	Female	B. A./Arts/I	Fresh	8	300	2400	0	684	684	3084
1846187 MAM	TA MOURYA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	704	704	3084
1860979 PHUL	MATT KASHYAP	Female	B. Sc./Science/I	Fresh	8	300	2400	0	704	704	2804
1854939 SURE	SH KUMAR BAGHEL	Male	B. Sc./Science/I	Fresh	7	300	2100	0	704		3104
1854918 PURS	AT BAGHEL	Male	B. Sc./Science/I	Fresh	7	300	2100	0		704	2804
1850488 JUGLU	J KARMA	Male	B. Com./Commerce/I	Fresh	8	300	2400	0		704	2804
1855045 JAYAN	ITI NAG	Female	B. Sc./Science/I	Fresh	8	300	2400			684	3084
1810489 BABIT.	A BHARTI	Female	B. A./Arts/I	Fresh	7			0		704	3104
		· ciriaic	D. 7.,7.1.0,1	110311		300	2100	0	684	684	2784
						Total:	104400	0	31924	31924	136324

ration:

(Signature & Seal of Head of the Institution)
Name (Cabita Head of the Institution)

attisgarh

And the second second

cholarship Scheme Post Matric ST Scholarship

Category

GOVT. GRADUATE COLLEGE TOKAPAL Institute Name

Academic Year 2020-21

Government of Chhattisgarh

Sanction Number

R/10/5540/2/7/101399

Sanction Date

21/01/2021

on ID Student Name							Applications T	pe: Ren	Renewal		
	Gender	Course	Type	No. of Month			Tuition Fee 0	ther Fee	Total Fee	Total Amoun	
342971 GAJENDRA MOURYA	Female	B. A./Arts/II	Renewal	10		Allowance			国性,40 000	Coral Athletic	
373722 PRAMOD KUMAR	Male	B. Sc./Science/III	Renewal		300	3000	0	684	684	36	
234311 RAMA BHARTI	Female	B. Sc./Science/III	Renewal	10	300	3000	0	704	704	37	
49018 PARVATI BAGHEL	Female	B. Com./Commerce/II		10	300	3000	0	584	584	35	
667243 OMESH KASHYAP	Male	B. Sc./Science/II	Renewal	10	300	3000	0	564	564		
355043 KHUSHBOO BAGHEL	Female		Renewal	10	300	3000	0	584	584	35	
855358 SUMITRA KASHYAP	Female	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	35	
487919 DHANIRAM KASHYAP	Male	B. A./Arts/II	Renewal	10	300	3000	0	684		37	
485244 NIXHIL KUMAR BAGHEL	Male	B. Sc./Science/III	Renewal	10	300	3000	0	584	684	36	
S00766 XIRAN KLIMAR KASHYAP		B. Sc./Science/III	Renewal	10	300	3000	0		584	35	
502135 BUDRU RAM MOURYA	Male	B. A./Arts/III	Renewal	10	300	3000		584	584	35	
487821 MUNNA RAM KASHYAP	Male	B. A./Arts/III	Renewal	10	300	3000	0	564	564	35	
1556262 JOGARAM KASHNAP	Male	B. Sc./Science/III	Renewal	10	300	3000	0	564	564	35	
1707589 KUMARI KUMBATI	Maile	B. A./Arts/III	Renewal	10	300		0	584	584	3.5	
1376833 SUKHMATEE BAGHEL	Female	B. A./Arts/III	Renewal	10		3000	0	564	564	35	
	Female	B. A./Arts/III	Renewal	10	300	3000	0	564	564	3.	
902656 ANU CASHYAP	Female	B. Sc./Science/III	Renewal	10	300	3000	0	684	684		
1560/29 SOMESH BAGHEL	Male	B. Sc./Science/II	Renewal		300	3000	0	704	704		
ion :				10	300	3000	0	704		31	

reflect that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Pail No. 1 to 100 here by sanctioning a sum of Rs. Out of which Rs. as maintenance allowance and Rs. as tuition and other fees. Printed copy of online solarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the indicate have been kept safety in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the suidies of accepts wether regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it in the second

Atlisgarh

Government of Chhattisgarh

Sanction Number

R/10/5540/2/7/101399

Sanction Date

21/01/2021

Applications Type

Renewal

olarship	Scheme:	Post Matric ST	Scholarshi

Category:

ST

Institute Name GOVT. GRADUATE COLLEGE TOKAPAL

Academic Year

2020-21

				Applications Type Reflewal								
pplication ID Student Nam	e G	ender Course	Туре	No. of Manth	Rate	Maintenence Allowance	Tuition Fee C	ther Fee	Total Fee	Total Amount		
1721640 MANISH KUMAR BELSAI	RIYA Male	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584		
1367064 GAYTRI KASHYAP	Fema	ale B. Sc./Science/II	Renewal	10	300	3000	O	704	704	3704		
1478465 AVINASH BAGHEL	Male	B. Sc./Science/III	Renewal	10	300	3000	O	584	584	3584		
1487509 DHANSINGH KASHYAP	Male	B. Sc./Science/III	Renewal	10	300	3000	0	584	584	3584		
1480920 SUKULDHAR BAGHEL	Male	B. A./Arts/III	Renewal	10	300	3000	0	564	564	3564		
1481744 ANJALI BAGHEL	Female	B. Sc./Science/III	Renewal	10	300	3000	0	584	584	3584		
1505529 KHIRMANI MOURYA	Female	B. Sc./Science/III	Renewal	10	300	3000	0	584	584	3584		
1568190 JANIK RAM BAGHEL	Male	B. A./Arts/III	Renewal	10	300	3000	O	564	564	3564		
1505498 TUSHARWATI NAGESH	Female	B. Sc./Science/III	Renewal	10	300	3000	O	584	584	3584		
1663511 AANCHAL KASHYAP	Female	B. Sc./Science/II	Renewal	10	300	3000	O	584	584	3584		
1502616 BALMATT BAGHEL	Female	B. A./Arts/III	Renewal	10	300	3000	0	564	564	3564		
1502152 PARVATI NAG	Female	B. A./Arts/III	Renewal	10	300	3000	0	564	564	3564		
1655189 SHAKUNTALA KASHYAP	Female	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584		
1466881 BHUPENDRA BAGHEL	Male	B. Sc./Science/III	Renewal	10	300	3000	O	704	704	3704		
1507540 MANBATI BAGHEL	Female	B. A./Arts/III	Renewal	10	300	3000	0	564	564	3564		
1664697 KHILESHWARI KASHYAP	Female	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584		
1678988 SURENDRA NAG	Male	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584		
1641775 DAMARU BAKDE	Male	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584		

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the andidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies of accepts my other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is present

(Signature & Seal GANDAT & Delibstitution) Name (TOWN) TOWN TO KAPA!

attisgarh

cholarship Scheme : Post Matric ST Scholarship

ST Category:

GOVT. GRADUATE COLLEGE TOKAPAL Institute Name

Academic Year: 2020-21



State

Government of Chhattisgarh

Sanction Number

R/10/5540/2/7/101399

Sanction Date

21/01/2021

Applications Type : Renewal

With the Party of											
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1587771	DHANSING NAG	Male	B. Sc./Science/III	Renewal	10	300	3000	0	584	584	3584
1578874	DEEPA KASHYAP	Female	B. A./Arts/III	Renewal	10	300	3000	0	564	564	3564
1710590	SONARU BAGHEL	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	564	564	3564
1663366	SHIVANI BAGHEL	Female	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584
1660699	RAMESH KUMAR MOURYA	Male	B. A./Arts/II	Renewal	10	300	3000	0	564	564	3564
1665450	SAVITA BAGHEL	Female	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584
1553220	HEMA BAGHEL	Female	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3754
1714156	SAMPRABHA BAGHEL	Female	B. A./Arts/II	Renewal	10	300	3000	0	564	564	3564
1690192	LALITA BAGHEL	Female	B. Sc./Science/II	Renewal	10	300	3000	σ	584	584	3584
1690406	SANSATI KASHYAP	Female	B. A./Arts/II	Renewal	10	300	3000	0	564	564	3564
1504879	PRAMILA KASHYAP	Female	B. A./Arts/II	Renewal	10	300	3000	0	684	684	3684
1707569	CHUMMAN KASHYAP	Male	B. A./Arts/TI	Renewal	10	300	3000	0	564	564	
	4 LAYMANEE KUWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	564	564	
	LAKHBATI KASHYAP	Female	E. A./Arts/II	Renewal	10	300	3000	0	564	564	
	0 BASO MOURYA	Female	E. A./Arts/II	Renewal	10	300	3000	0	564	Te	
	9 MAMTA SAHANI	Female	B. A./Arts/II	Renewal	10	300	3000	0	564	364	
	7 ANTU RAM BAGHEL	Male	B. Sc./Science/II	Renewal	10	300	3000	٥		584	
	6 BUDRI KASHYAP	Female	B. A./Arts/II	Renewal	10	300	3000	0	564	564	==4

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is process.

Name (Gold Leet)s

attisgarh

Post Matric ST Scholarship cholarship Scheme

Category

ST

GOVT. GRADUATE COLLEGE TOKAPAL Institute Name

Academic Year . 2020-21



State

Government of Chhattisgarh

Sanction Number

R/10/5540/2/7/101399

Sanction Date:

21/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1669062 JAIM	IAN BAGHEL	Male	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584
1487623 SATY	AVATI BAGHEL	Female	B. A./Arts/II	Renewal	10	300	3000	0	684	684	3684
1487319 ARJU	N NAG	Male	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1316606 BIMA	LA BAKDE	Female	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1856125 SAMT	TA KASHYAP	Female	B. A./Arts/II	Renewal	10	300	3000	0	684	684	3684
1684963 DHAN	MATI MOURYA	Female	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1856335 SHYAN	MSUNDAR BAKDE	Male	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1859160 PINKI		Female	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1681485 MUNN		Female	B. A./Arts/II	Renewal	10	300	3000	0	564	564	3564
1658499 GOVIN		Male	B. A./Arts/II	Renewal	10	300	3000	0	564	564	3564
1856729 MAMTA		Female	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1476326 RAJESH		Male	B. Sc./Science/II	Renewal	10	300	3000	0	704	704	3704
1683736 JUGDHA		Male	B. A./Arts/II	Renewal	10	300	3000	0	564	564	3564
		Female	B. Sc./Science/II	Renewal	10	300	3000	0	584	584	3584
1715869 DHEERN	TANI NAG	Temble	B. 52,753.0.34			Total :	201000	0	40928	40928	241928

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal of Head of the Pastitution) Name (Capatital estege Tokapa -Bastar (C.G)

ettisgarh

iarship Scheme Post Matric OBC Scholarship

Category

OBC

GOVT, GRADUATE COLLEGE TOKAPAL Institute Name

Academic Year 2020-21



State

Government of Chhattisgarh

Sanction Number

N/10/5540/3/10/101407

Sanction Date

21/01/2021

Applications Type

Fresh

The state of the s										The second secon
Student Name	Gender	Course	Туре	No. of Month			iltion Fee (Other Fee	Total Fee T	otal Amount
SHNA NAYAK	Male	B. A./Arts/I	Fresh	7	55	385	0	799	799	1184
ITA THAKUR	Female	B. Sc./Science/I	Fresh	7	70	490	0	704	704	1194
ENDRA KUMAR SETHI	Male	B. Sc./Science/I	Fresh	7	55	385	0	704	704	1089
NDRA SONI	Male	B. Sc./Science/I	Fresh	8	55	440	0	819	819	1259
ATI SETHIYA	Male	B. Com./Commerce/I	Fresh	7	55	385	0	799	799	1184
					Total:	2085	0	3825	3825	5910
	Student Name SHNA NAYAK ITA THAKUR RENDRA KUMAR SETHI ENDRA SONI PATI SETHIYA	SHNA NAYAK Male ITA THAKUR Female RENDRA KUMAR SETHI Male ENDRA SONI Male	ISHNA NAYAK Male B. A./Arts/I ITA THAKUR Female B. Sc./Science/I RENDRA KUMAR SETHI Male B. Sc./Science/I ENDRA SONI Male B. Sc./Science/I	SHNA NAYAK Male B. A./Arts/I Fresh ITA THAKUR Female B. Sc./Science/I Fresh RENDRA KUMAR SETHI Male B. Sc./Science/I Fresh ENDRA SONI Male B. Sc./Science/I Fresh	SHNA NAYAK Male B. A./Arts/I Fresh 7 ITA THAKUR Female B. Sc./Science/I Fresh 7 RENDRA KUMAR SETHI Male B. Sc./Science/I Fresh 7 ENDRA SONI Male B. Sc./Science/I Fresh 8	SSHNA NAYAK Male B. A./Arts/I Fresh 7 55 ITA THAKUR Female B. Sc./Science/I Fresh 7 70 RENDRA KUMAR SETHI Male B. Sc./Science/I Fresh 7 55 ENDRA SONI Male B. Sc./Science/I Fresh 8 55 ENDRA SONI Male B. Com./Commerce/I Fresh 7 55 ENDRA SETHIYA Male B. Com./Commerce/I Fresh 7 55	SHNA NAYAK Male B. A./Arts/I Fresh 7 55 385 ITA THAKUR Female B. Sc./Science/I Fresh 7 70 490 RENDRA KUMAR SETHI Male B. Sc./Science/I Fresh 7 55 385 ENDRA SONI Male B. Sc./Science/I Fresh 8 55 440 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 PATI SETHIYA	Send Name	SHNA NAYAK Male B. A./Arts/I Fresh 7 55 385 0 799 ITA THAKUR Female B. Sc./Science/I Fresh 7 70 490 0 704 RENDRA KUMAR SETHI Male B. Sc./Science/I Fresh 7 55 385 0 704 RENDRA SONI Male B. Sc./Science/I Fresh 8 55 440 0 819 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799 RENDRA SONI Male B. Com./Commerce/I Fresh 7 55 385 0 799	SHNA NAYAK Male B. A./Arts/I Fresh 7 55 385 0 799 799 ITA THAKUR Female B. Sc./Science/I Fresh 7 70 490 0 704 704 RENDRA KUMAR SETHI Male B. Sc./Science/I Fresh 7 55 385 0 704 704 ENDRA SONI Male B. Sc./Science/I Fresh 8 55 440 0 819 819 PATI SETHIYA Male B. Com./Commerce/I Fresh 7 55 385 0 799 799

laration:

fied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online arship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the date have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is pleased.

> (Signature & Seal of Head of the Institution) Name Caphagalenge Tokapal

THE REAL PROPERTY AND ADDRESS OF THE PARTY O

Government of Chhattisgarh

Sanction Number

R/10/5540/3/10/101413

Sanction Date

21/01/2021

Applications Type:

Renewal

GOVT GRADUATE COLLEGE TOKAPAL

Post Matric OBC Scholarship

Academic Year 2020-21

Aurebie: Sichertse

Student Name	Gender	Course	Туре	No. of Month	Rate Ma	intenence Tuit	ion Fee O	ther Fee To	stal Fee To	ital Amount
1505574 DUBESHWARI YADAV	Female	B. A./Arts/III	Renewal	10	85	llowance 850	0	564	564	1414
1846530 SURESH KUMAR SETHIYA	Male	B. Sc./Science/II	Renewal	10	70	700	0	699	699	1414
1253212 BALDEV SETHIYA	Male	B. Sc./Science/III	Renewal	10	70	700	0	699	699	1399
1578449 TANUJA THAKUR	Female	B. A./Arts/II	Renewal	10	85	850	0	684	684	1534
1714169 AMIT KUMAR SETHIYA	Male	B. Sc./Science/II	Renewal	10	70	700	0	699	699	1399
1284844 DHARMENDRA PATEL	Male	B. A./Arts/III	Renewal	10	70	700	0	679	679	1379
1700034 SANJAY KUMAR SETHIYA	Male	B. Sc./Science/II	Renewal	10	70	700	0	819	819	1519
1854109 PUSHPA THAKUR	Female	B. Sc./Science/II	Renewal	10	85	850	0	704	704	1519
					Total:	6050	0	5547	5547	11597

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of RsOut of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies of accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is described.

Place Date

(Signature & Seal of Head diffied dititution) Name (Capital Jetels) ge Tokapal

Bastar (C.G)